

| Central Consolidation Pump Station 42 Force Main-Phase I Parish Project No. 09-FM-MS-0036A |                         |      |       |                                    |                |               |                |                                      |                |                     |                |                       |                |                                       |                |                                 |                |
|--|-------------------------|------|-------|------------------------------------|----------------|---------------|----------------|--------------------------------------|----------------|---------------------|----------------|-----------------------|----------------|---------------------------------------|----------------|---------------------------------|----------------|
| Charles B. Woodruff, P. E.   |                         |      |       |                                    |                |               |                |                                      |                |                     |                |                       |                |                                       |                |                                 |                |
| The project was actually awarded to Reynolds, Inc. in the amount of \$15,470,867.00        |                         |      |       |                                    |                |               |                |                                      |                |                     |                |                       |                |                                       |                |                                 |                |
| Awarded on 6/16/2011   |                         |      |       |                                    |                |               |                |                                      |                |                     |                |                       |                |                                       |                |                                 |                |
| ITEM #   | DESCRIPTION             | UNIT | QTY   | Morgan Contracting, Inc of Florida |                | Reynolds, Inc |                | S J Louis Construction of Texas, LTD |                | Wharton-Smith, Inc. |                | Cecil D. Gassiot, LLC |                | Grady Crawford Construction Co., Inc. |                | Hemphill Construction Co., Inc. |                |
|  |                         |      |       | AS BID                             | UNIT PRICE     | AMOUNT        | UNIT PRICE     | AMOUNT                               | UNIT PRICE     | AMOUNT              | UNIT PRICE     | AMOUNT                | UNIT PRICE     | AMOUNT                                | UNIT PRICE     | AMOUNT                          | UNIT PRICE     |
| 2010100  | Clearing and Grubbing   | LUMP | 1     | \$25,000.00                        | \$25,000.00    | \$26,223.00   | \$26,223.00    | \$50,000.00                          | \$50,000.00    | \$22,575.00         | \$22,575.00    | \$100,000.00          | \$100,000.00   | \$45,000.00                           | \$45,000.00    | \$150,000.00                    | \$150,000.00   |
| 2020300  | Removal of Concrete F   | SY   | 850   | \$8.00                             | \$6,800.00     | \$6.25        | \$5,312.50     | \$15.00                              | \$12,750.00    | \$7.35              | \$6,247.50     | \$25.00               | \$21,250.00    | \$5.60                                | \$4,760.00     | \$9.00                          | \$7,650.00     |
| 2020500  | Removal of Asphalt Su   | SY   | 740   | \$7.00                             | \$5,180.00     | \$3.75        | \$2,775.00     | \$7.00                               | \$5,180.00     | \$7.35              | \$5,439.00     | \$25.00               | \$18,500.00    | \$5.60                                | \$4,144.00     | \$9.00                          | \$6,660.00     |
| 2020600  | Removal of Concrete V   | SY   | 75    | \$7.00                             | \$525.00       | \$2.00        | \$150.00       | \$7.00                               | \$525.00       | \$7.35              | \$551.25       | \$25.00               | \$1,875.00     | \$5.60                                | \$420.00       | \$7.00                          | \$525.00       |
| 2020700  | Removal of Concrete C   | LF   | 120   | \$4.00                             | \$480.00       | \$1.35        | \$162.00       | \$5.00                               | \$600.00       | \$5.25              | \$630.00       | \$25.00               | \$3,000.00     | \$5.60                                | \$672.00       | \$7.00                          | \$840.00       |
| 2020900  | Saw Cutting Concrete    | LF   | 1300  | \$6.00                             | \$7,800.00     | \$4.50        | \$5,850.00     | \$12.00                              | \$15,600.00    | \$6.30              | \$8,190.00     | \$25.00               | \$32,500.00    | \$5.60                                | \$7,280.00     | \$13.00                         | \$16,900.00    |
| 2030200  | Borrow Material (In Pla | CY   | 420   | \$56.00                            | \$23,520.00    | \$2.25        | \$945.00       | \$20.00                              | \$8,400.00     | \$21.50             | \$9,030.00     | \$20.00               | \$8,400.00     | \$13.55                               | \$5,691.00     | \$22.00                         | \$9,240.00     |
| 4010100  | Traffic Maintenance Ag  | CY   | 310   | \$32.00                            | \$9,920.00     | \$53.00       | \$16,430.00    | \$60.00                              | \$18,600.00    | \$37.80             | \$11,718.00    | \$90.00               | \$27,900.00    | \$75.00                               | \$23,250.00    | \$65.00                         | \$20,150.00    |
| 4020306  | Aggregate Surface Cov   | SY   | 90    | \$95.00                            | \$8,550.00     | \$51.00       | \$4,590.00     | \$50.00                              | \$4,500.00     | \$21.44             | \$1,929.60     | \$10.00               | \$900.00       | \$45.00                               | \$4,050.00     | \$70.00                         | \$6,300.00     |
| 5011100  | Restore Asphalt Concr   | SY   | 740   | \$65.00                            | \$48,100.00    | \$56.00       | \$41,440.00    | \$100.00                             | \$74,000.00    | \$58.82             | \$43,526.80    | \$61.00               | \$45,140.00    | \$75.00                               | \$55,500.00    | \$100.00                        | \$74,000.00    |
| 5020106  | 6" Portland Cement Cc   | SY   | 690   | \$78.00                            | \$53,820.00    | \$65.00       | \$44,850.00    | \$75.00                              | \$51,750.00    | \$73.50             | \$50,715.00    | \$86.00               | \$59,340.00    | \$75.00                               | \$51,750.00    | \$75.00                         | \$51,750.00    |
| 5021108  | Restore Portland Cem    | SY   | 160   | \$66.00                            | \$10,560.00    | \$110.00      | \$17,600.00    | \$100.00                             | \$16,000.00    | \$92.40             | \$14,784.00    | \$100.00              | \$16,000.00    | \$95.00                               | \$15,200.00    | \$100.00                        | \$16,000.00    |
| 7010215  | 15" Reinforced Concre   | LF   | 40    | \$30.00                            | \$1,200.00     | \$18.00       | \$720.00       | \$60.00                              | \$2,400.00     | \$48.12             | \$1,924.80     | \$36.00               | \$1,440.00     | \$97.00                               | \$3,880.00     | \$65.00                         | \$2,600.00     |
| 7010218  | 18" Reinforced Concre   | LF   | 40    | \$35.00                            | \$1,400.00     | \$20.00       | \$800.00       | \$70.00                              | \$2,800.00     | \$48.12             | \$1,924.80     | \$40.00               | \$1,600.00     | \$99.00                               | \$3,960.00     | \$75.00                         | \$3,000.00     |
| 7010224  | 24" Reinforced Concre   | LF   | 40    | \$40.00                            | \$1,600.00     | \$25.00       | \$1,000.00     | \$80.00                              | \$3,200.00     | \$58.99             | \$2,359.60     | \$45.00               | \$1,800.00     | \$101.00                              | \$4,040.00     | \$95.00                         | \$3,800.00     |
| 7010236  | 36" Reinforced Concre   | LF   | 40    | \$60.00                            | \$2,400.00     | \$55.00       | \$2,200.00     | \$130.00                             | \$5,200.00     | \$67.63             | \$2,705.20     | \$60.00               | \$2,400.00     | \$125.00                              | \$5,000.00     | \$150.00                        | \$6,000.00     |
| 7010518  | 18" Bituminous Coated   | LF   | 80    | \$40.00                            | \$3,200.00     | \$28.00       | \$2,240.00     | \$75.00                              | \$6,000.00     | \$48.12             | \$3,849.60     | \$40.00               | \$3,200.00     | \$41.51                               | \$3,320.80     | \$60.00                         | \$4,800.00     |
| 7010524  | 24" Bituminous Coated   | LF   | 120   | \$55.00                            | \$6,600.00     | \$35.00       | \$4,200.00     | \$80.00                              | \$9,600.00     | \$61.46             | \$7,375.20     | \$45.00               | \$5,400.00     | \$54.65                               | \$6,558.00     | \$75.00                         | \$9,000.00     |
| 7010548  | 48" Bituminous Coated   | LF   | 60    | \$80.00                            | \$4,800.00     | \$87.00       | \$5,220.00     | \$139.00                             | \$8,340.00     | \$131.36            | \$7,881.60     | \$75.00               | \$4,500.00     | \$112.70                              | \$6,762.00     | \$200.00                        | \$12,000.00    |
| 7010624  | 24" Equiv. Bituminous   | LF   | 40    | \$60.00                            | \$2,400.00     | \$37.00       | \$1,480.00     | \$110.00                             | \$4,400.00     | \$60.35             | \$2,414.00     | \$50.00               | \$2,000.00     | \$64.00                               | \$2,560.00     | \$80.00                         | \$3,200.00     |
| 7010915  | 15" Plastic Pipe        | LF   | 40    | \$20.00                            | \$800.00       | \$15.00       | \$600.00       | \$50.00                              | \$2,000.00     | \$35.37             | \$1,414.80     | \$25.00               | \$1,000.00     | \$42.65                               | \$1,706.00     | \$45.00                         | \$1,800.00     |
| 7011000  | Relaid Pipe             | LF   | 700   | \$17.00                            | \$11,900.00    | \$5.25        | \$3,675.00     | \$53.00                              | \$37,100.00    | \$42.16             | \$29,512.00    | \$20.00               | \$14,000.00    | \$27.10                               | \$18,970.00    | \$75.00                         | \$52,500.00    |
| 7040200  | Cellular Concrete Bloc  | SY   | 1150  | \$36.00                            | \$41,400.00    | \$62.00       | \$71,300.00    | \$100.00                             | \$115,000.00   | \$87.94             | \$101,131.00   | \$54.00               | \$62,100.00    | \$71.17                               | \$81,845.50    | \$40.00                         | \$46,000.00    |
| 8013000  | Limestone Bedding an    | CY   | 500   | \$45.00                            | \$22,500.00    | \$50.00       | \$25,000.00    | \$51.00                              | \$25,500.00    | \$68.08             | \$34,040.00    | \$95.00               | \$47,500.00    | \$95.00                               | \$47,500.00    | \$75.00                         | \$37,500.00    |
| 8013100  | Sand Backfill           | CY   | 2300  | \$18.00                            | \$41,400.00    | \$15.25       | \$35,075.00    | \$24.00                              | \$55,200.00    | \$18.39             | \$42,297.00    | \$23.00               | \$52,900.00    | \$17.00                               | \$39,100.00    | \$30.00                         | \$69,000.00    |
| 8013200  | Select Material For Ba  | CY   | 500   | \$45.00                            | \$22,500.00    | \$19.00       | \$9,500.00     | \$24.00                              | \$12,000.00    | \$18.39             | \$9,195.00     | \$43.00               | \$21,500.00    | \$17.00                               | \$8,500.00     | \$30.00                         | \$15,000.00    |
| 802104I  | PVC Sewer Pipe (12.1    | LF   | 900   | \$70.00                            | \$63,000.00    | \$39.00       | \$35,100.00    | \$78.00                              | \$70,200.00    | \$74.39             | \$66,951.00    | \$65.00               | \$58,500.00    | \$75.45                               | \$67,905.00    | \$175.00                        | \$157,500.00   |
| 802124I  | Ductile Iron Sewer Pip  | LF   | 40    | \$150.00                           | \$6,000.00     | \$82.00       | \$3,280.00     | \$125.00                             | \$5,000.00     | \$109.00            | \$4,360.00     | \$250.00              | \$10,000.00    | \$211.69                              | \$8,467.60     | \$200.00                        | \$8,000.00     |
| 8023000  | Connections to Existin  | EACH | 1     | \$12,500.00                        | \$12,500.00    | \$715.00      | \$715.00       | \$12,000.00                          | \$12,000.00    | \$4,000.00          | \$4,000.00     | \$3,100.00            | \$3,100.00     | \$300.00                              | \$300.00       | \$3,000.00                      | \$3,000.00     |
| 8028100  | Plug and Abandon Sev    | LUMP | 1     | \$32,000.00                        | \$32,000.00    | \$30,000.00   | \$30,000.00    | \$7,500.00                           | \$7,500.00     | \$4,000.00          | \$4,000.00     | \$1,000.00            | \$1,000.00     | \$10,000.00                           | \$10,000.00    | \$5,000.00                      | \$5,000.00     |
| 8028200  | Remove Sewer Pipe       | LUMP | 1     | \$4,000.00                         | \$4,000.00     | \$7,815.00    | \$7,815.00     | \$500.00                             | \$500.00       | \$2,170.00          | \$2,170.00     | \$1,500.00            | \$1,500.00     | \$30,000.00                           | \$30,000.00    | \$5,000.00                      | \$5,000.00     |
| 8031604  | 60" Sanitary Sewer Ma   | EACH | 4     | \$7,500.00                         | \$30,000.00    | \$4,575.00    | \$18,300.00    | \$10,600.00                          | \$42,400.00    | \$8,142.00          | \$32,568.00    | \$5,000.00            | \$20,000.00    | \$10,735.00                           | \$42,940.00    | \$10,000.00                     | \$40,000.00    |
| 804010S  | Unrestrained Joint Duc  | LF   | 230   | \$325.00                           | \$74,750.00    | \$287.22      | \$66,060.60    | \$307.00                             | \$70,610.00    | \$329.48            | \$75,780.40    | \$337.00              | \$77,510.00    | \$333.10                              | \$76,613.00    | \$325.00                        | \$74,750.00    |
| 804010T  | Unrestrained Joint Duc  | LF   | 16260 | \$326.00                           | \$5,300,760.00 | \$328.79      | \$5,346,125.40 | \$359.00                             | \$5,837,340.00 | \$352.78            | \$5,736,202.80 | \$404.00              | \$6,569,040.00 | \$340.99                              | \$5,544,497.40 | \$335.00                        | \$5,447,100.00 |
| 804010U  | Unrestrained Joint Duc  | LF   | 5040  | \$370.00                           | \$1,864,800.00 | \$384.75      | \$1,939,140.00 | \$391.00                             | \$1,970,640.00 | \$387.95            | \$1,955,268.00 | \$444.00              | \$2,237,760.00 | \$379.52                              | \$1,912,780.80 | \$395.00                        | \$1,990,800.00 |
| 804010V  | Unrestrained Joint Duc  | LF   | 2950  | \$415.00                           | \$1,224,250.00 | \$424.60      | \$1,252,570.00 | \$430.00                             | \$1,268,500.00 | \$428.09            | \$1,262,865.50 | \$483.00              | \$1,424,850.00 | \$479.79                              | \$1,415,380.50 | \$435.00                        | \$1,283,250.00 |
| 804030H  | HDPE Sewer Force Ma     | LF   | 3420  | \$75.00                            | \$256,500.00   | \$53.00       | \$181,260.00   | \$83.00                              | \$283,860.00   | \$81.58             | \$279,003.60   | \$75.00               | \$256,500.00   | \$42.48                               | \$145,281.60   | \$73.00                         | \$249,660.00   |
| 804041H  | Restrained Joint Ductil | LF   | 20    | \$250.00                           | \$5,000.00     | \$172.00      | \$3,440.00     | \$250.00                             | \$5,000.00     | \$245.52            | \$4,910.40     | \$317.00              | \$6,340.00     | \$766.50                              | \$15,330.00    | \$105.00                        | \$2,100.00     |
| 804041S  | Restrained Joint Ductil | LF   | 840   | \$415.00                           | \$348,600.00   | \$429.63      | \$360,889.20   | \$363.00                             | \$304,920.00   | \$436.00            | \$366,240.00   | \$389.00              | \$326,760.00   | \$467.27                              | \$392,506.80   | \$425.00                        | \$357,000.00   |
| 804041T  | Restrained Joint Ductil | LF   | 1220  | \$467.00                           | \$569,740.00   | \$529.39      | \$645,855.80   | \$441.00                             | \$538,020.00   | \$454.00            | \$553,880.00   | \$474.00              | \$578,280.00   | \$555.43                              | \$677,624.60   | \$480.00                        | \$585,600.00   |
| 804041U  | Restrained Joint Ductil | LF   | 1160  | \$515.00                           | \$597,400.00   | \$648.92      | \$752,747.20   | \$474.00                             | \$549,840.00   | \$495.96            | \$575,313.60   | \$525.00              | \$609,000.00   | \$663.92                              | \$770,147.20   | \$560.00                        | \$649,600.00   |
| 804041V  | Restrained Joint Ductil | LF   | 720   | \$560.00                           | \$403,200.00   | \$580.79      | \$418,168.80   | \$519.00                             | \$373,680.00   | \$540.10            | \$388,872.00   | \$589.00              | \$424,080.00   | \$677.01                              | \$487,447.20   | \$570.00                        | \$410,400.00   |
| 8042000  | Remove Force Main       | LUMP | 1     | \$4,000.00                         | \$4,000.00     | \$3,138.00    | \$3,138.00     | \$3,500.00                           | \$3,500.00     | \$1,707.00          | \$1,707.00     | \$100.00              | \$100.00       | \$45,000.00                           | \$45,000.00    | \$10,000.00                     | \$10,000.00    |
| 8045001  | Fittings                | TONS | 90    | \$8,500.00                         | \$765,000.00   | \$10,682.00   | \$961,380.00   | \$7,400.00                           | \$666,000.00   | \$7,119.00          | \$640,710.00   | \$100.00              | \$9,000.00     | \$10,021.00                           | \$901,890.00   | \$13,000.00                     | \$1,170,000.00 |
| 804800H  | Plug Valve (16")        | EACH | 1     | \$5,500.00                         | \$5,500.00     | \$5,257.00    | \$5,257.00     | \$7,000.00                           | \$7,000.00     | \$4,900.00          | \$4,900.00     | \$5,000.00            | \$5,000.00     | \$7,223.68                            | \$7,223.68     | \$5,500.00                      | \$5,500.00     |
| 804800R  | Plug Valve (42")        | EACH | 1     | \$76,000.00                        | \$76,000.00    | \$80,686.00   | \$80,686.00    | \$76,000.00                          | \$76,000.00    | \$75,000.00         | \$75,000.00    | \$70,000.00           | \$70,000.00    | \$86,513.28                           | \$86,513.28    | \$85,000.00                     | \$85,000.00    |
| 804800S  | Plug Valve (48")        | EACH | 1     | \$80,000.00                        | \$80,000.00    | \$86,325.00   | \$86,325.00    | \$80,000.00                          | \$80,000.00    | \$80,519.00         | \$80,519.00    | \$75,000.00           | \$75,000.00    | \$93,569.43                           | \$93,569.43    | \$93,000.00                     | \$93,000.00    |
| 8049004  | 4" Air Release/Vacuum   | EACH | 20    | \$6,000.00                         | \$120,000.00   | \$6,000.00    | \$120,000.00   | \$7,000.00                           | \$140,000.00   | \$8,017.00          | \$160,340.00   | \$25,000.00           | \$500,000.00   | \$9,254.95                            | \$185,099.00   | \$8,000.00                      | \$160,000.00   |
| 8049006  | 6" Air Release/Vacuum   | EACH | 15    | \$7,500.00                         | \$112,500.00   | \$9,517.50    | \$142,762.50   | \$8,500.00                           | \$127,500.00   | \$9,593.00          | \$143,895.00   | \$27,000.00           | \$405,000.00   | \$14,214.70                           | \$213,220.50   | \$11,500.00                     | \$172,500.00   |
| 804920F  | Force Main Tie-In (14"  | EACH | 1     | \$5,000.00                         | \$5,000.00     | \$3,129.00    | \$3,129.00     | \$7,000.00                           | \$7,000.00     | \$2,564.00          | \$2,564.00     | \$3,000.00            | \$3,000.00     | \$6,054.12                            | \$6,054.12     | \$2,000.00                      | \$2,000.00     |
| 804920J  | Force Main Tie-In (20"  | EACH | 1     | \$11,000.00                        | \$11,000.00    | \$18,392.00   | \$18,392.00    | \$10,000.00                          | \$10,000.00    | \$11,659.00         | \$11,659.00    | \$10                  |                |                                       |                |                                 |                |

| ITEM #  | DESCRIPTION   | UNIT                       | QTY   | Morgan Contracting, Inc of Florida |                                  | Reynolds, Inc |                         | S J Louis Construction of Texas, LTD |                         | Wharton-Smith, Inc. |                         | Cecil D. Gassiot, LLC |                         | Grady Crawford Construction Co., Inc. |                         | Hemphill Construction Co., Inc. |  |
|---------|---|----------------------------|-------|------------------------------------|----------------------------------|---------------|-------------------------|--------------------------------------|-------------------------|---------------------|-------------------------|-----------------------|-------------------------|---------------------------------------|-------------------------|---------------------------------|--|
|         |   |                            |       | AS BID                             | UNIT PRICE                       | AMOUNT        | UNIT PRICE              | AMOUNT                               | UNIT PRICE              | AMOUNT              | UNIT PRICE              | AMOUNT                | UNIT PRICE              | AMOUNT                                | UNIT PRICE              | AMOUNT                          | UNIT PRICE   |
| 9021600 | Temporary Constructio                               | LF                         | 270   | \$4.00                             | \$1,080.00                       | \$1.25        | \$337.50                | \$3.00                               | \$810.00                | \$10.50             | \$2,835.00              | \$10.00               | \$2,700.00              | \$10.00                               | \$2,700.00              | \$15.00                         | \$4,050.00   |
| 9030200 | Temporary Hay Bales                                 | EACH                       | 150   | \$10.00                            | \$1,500.00                       | \$11.00       | \$1,650.00              | \$10.00                              | \$1,500.00              | \$10.50             | \$1,575.00              | \$11.00               | \$1,650.00              | \$10.00                               | \$1,500.00              | \$11.00                         | \$1,650.00   |
| 9030500 | Temporary Silt Fencing                              | LF                         | 5600  | \$1.50                             | \$8,400.00                       | \$1.60        | \$8,960.00              | \$1.50                               | \$8,400.00              | \$1.37              | \$7,672.00              | \$2.45                | \$13,720.00             | \$2.50                                | \$14,000.00             | \$1.50                          | \$8,400.00   |
| 9030800 | Seed  | LB                         | 5200  | \$8.00                             | \$41,600.00                      | \$9.00        | \$46,800.00             | \$8.00                               | \$41,600.00             | \$8.40              | \$43,680.00             | \$8.80                | \$45,760.00             | \$13.50                               | \$70,200.00             | \$8.00                          | \$41,600.00  |
| 9030900 | Fertilizer  | LB                         | 24100 | \$0.50                             | \$12,050.00                      | \$1.00        | \$24,100.00             | \$0.90                               | \$21,690.00             | \$0.95              | \$22,895.00             | \$1.00                | \$24,100.00             | \$0.75                                | \$18,075.00             | \$0.50                          | \$12,050.00  |
| 9031000 | Water   | MGAL                       | 600   | \$15.00                            | \$9,000.00                       | \$6.50        | \$3,900.00              | \$50.00                              | \$30,000.00             | \$52.50             | \$31,500.00             | \$55.00               | \$33,000.00             | \$0.01                                | \$6.00                  | \$40.00                         | \$24,000.00  |
| 9031100 | Straw Mulch   | SY                         | 78100 | \$0.30                             | \$23,430.00                      | \$0.30        | \$23,430.00             | \$0.25                               | \$19,525.00             | \$0.26              | \$20,306.00             | \$0.28                | \$21,868.00             | \$0.75                                | \$58,575.00             | \$0.40                          | \$31,240.00  |
| 9031400 | Erosion Control Mat                                 | SY                         | 37500 | \$1.30                             | \$48,750.00                      | \$1.10        | \$41,250.00             | \$1.00                               | \$37,500.00             | \$1.05              | \$39,375.00             | \$1.10                | \$41,250.00             | \$1.75                                | \$65,625.00             | \$2.50                          | \$93,750.00  |
| 9031500 | Slab Sod  | SY                         | 1800  | \$6.00                             | \$10,800.00                      | \$4.35        | \$7,830.00              | \$5.00                               | \$9,000.00              | \$4.20              | \$7,560.00              | \$4.40                | \$7,920.00              | \$6.75                                | \$12,150.00             | \$6.50                          | \$11,700.00  |
| 9031600 | Storm Water Pollution                               | LUMP                       | 1     | \$8,000.00                         | \$8,000.00                       | \$21,300.00   | \$21,300.00             | \$1,000.00                           | \$1,000.00              | \$4,725.00          | \$4,725.00              | \$10,000.00           | \$10,000.00             | \$5,000.00                            | \$5,000.00              | \$20,000.00                     | \$20,000.00  |
| 9040101 | Plant (5-6 Ft. Crape M                              | EACH                       | 1     | \$350.00                           | \$350.00                         | \$110.00      | \$110.00                | \$100.00                             | \$100.00                | \$105.00            | \$105.00                | \$110.00              | \$110.00                | \$150.00                              | \$150.00                | \$200.00                        | \$200.00   |
| 9050100 | Temporary Signs and E                               | LUMP                       | 1     | \$50,000.00                        | \$50,000.00                      | \$13,360.00   | \$13,360.00             | \$15,000.00                          | \$15,000.00             | \$20,796.00         | \$20,796.00             | \$25,000.00           | \$25,000.00             | \$30,000.00                           | \$30,000.00             | \$50,000.00                     | \$50,000.00  |
| 9070106 | Integral Concrete Curb                              | LF                         | 30    | \$31.00                            | \$930.00                         | \$11.00       | \$330.00                | \$30.00                              | \$900.00                | \$31.50             | \$945.00                | \$33.00               | \$990.00                | \$15.00                               | \$450.00                | \$33.00                         | \$990.00   |
| 9070200 | Concrete Curb and Gu                                | LF                         | 90    | \$31.00                            | \$2,790.00                       | \$21.50       | \$1,935.00              | \$30.00                              | \$2,700.00              | \$31.50             | \$2,835.00              | \$33.00               | \$2,970.00              | \$30.00                               | \$2,700.00              | \$35.00                         | \$3,150.00   |
| 9070304 | 4" Concrete Walk                                    | SY                         | 15    | \$104.00                           | \$1,560.00                       | \$67.50       | \$1,012.50              | \$100.00                             | \$1,500.00              | \$105.00            | \$1,575.00              | \$110.00              | \$1,650.00              | \$60.00                               | \$900.00                | \$110.00                        | \$1,650.00   |
| 9070406 | 6" Concrete Drive                                   | SY                         | 60    | \$78.00                            | \$4,680.00                       | \$67.50       | \$4,050.00              | \$75.00                              | \$4,500.00              | \$78.75             | \$4,725.00              | \$86.00               | \$5,160.00              | \$75.00                               | \$4,500.00              | \$115.00                        | \$6,900.00   |
| 9079000 | Driveway Crossing                                   | LF                         | 100   | \$88.00                            | \$8,800.00                       | \$16.50       | \$1,650.00              | \$65.00                              | \$6,500.00              | \$68.25             | \$6,825.00              | \$75.00               | \$7,500.00              | \$1.00                                | \$100.00                | \$130.00                        | \$13,000.00  |
| 9090100 | Mobilization  | LUMP                       | 1     | \$350,000.00                       | \$350,000.00                     | \$410,000.00  | \$410,000.00            | \$667,000.00                         | \$667,000.00            | \$405,757.00        | \$405,757.00            | \$300,000.00          | \$300,000.00            | \$937,000.00                          | \$937,000.00            | \$800,000.00                    | \$800,000.00   |
| 9900001 | Utility Relocation Allow                            | LUMP                       | 1     | \$100,000.00                       | \$100,000.00                     | \$100,000.00  | \$100,000.00            | \$100,000.00                         | \$100,000.00            | \$100,000.00        | \$100,000.00            | \$100,000.00          | \$100,000.00            | \$100,000.00                          | \$100,000.00            | \$100,000.00                    | \$100,000.00   |
| 9900004 | Railroad Flagman and                                | LUMP                       | 1     | \$40,000.00                        | \$40,000.00                      | \$40,000.00   | \$40,000.00             | \$40,000.00                          | \$40,000.00             | \$40,000.00         | \$40,000.00             | \$40,000.00           | \$40,000.00             | \$40,000.00                           | \$40,000.00             | \$40,000.00                     | \$40,000.00  |
| 9900005 | Cathodic Protection of                              | LUMP                       | 1     | \$250,000.00                       | \$250,000.00                     | \$375,000.00  | \$375,000.00            | \$350,000.00                         | \$350,000.00            | \$455,764.00        | \$455,764.00            | \$147,000.00          | \$147,000.00            | \$97,615.00                           | \$97,615.00             | \$400,000.00                    | \$400,000.00   |
|         |   |                            |       | <b>TOTAL</b>                       | <b>\$ 15,176,285.00</b>          | <b>TOTAL</b>  | <b>\$ 15,470,867.00</b> | <b>TOTAL</b>                         | <b>\$ 15,774,731.00</b> | <b>TOTAL</b>        | <b>\$ 15,870,643.46</b> | <b>TOTAL</b>          | <b>\$ 15,970,813.00</b> | <b>TOTAL</b>                          | <b>\$ 16,762,407.77</b> | <b>TOTAL</b>                    | <b>\$ 16,987,665.00</b>                                      |
|         | Corrections made to multiplications in bids: >>>    |                            |       |                                    | 804920R had multiplication error |               |                         |                                      |                         |                     |                         |                       |                         |                                       |                         |                                 |  |
|         |   |                            |       |                                    | >>>                              |               |                         |                                      |                         |                     |                         |                       |                         |                                       |                         |                                 |  |
|         |   |                            |       |                                    | >>>                              |               |                         |                                      |                         |                     |                         |                       |                         |                                       |                         |                                 |  |
|         |   |                            |       |                                    | >>>                              |               |                         |                                      |                         |                     |                         |                       |                         |                                       |                         |                                 |  |
|         |   |                            |       |                                    |                                  |               |                         |                                      |                         |                     |                         |                       |                         |                                       |                         |                                 |  |
|         | 7010236 ( Item mistake repeated on BidX bid forms ) | 36" Reinforced Concrete LF | 100   |                                    |                                  |               |                         |                                      |                         |                     |                         |                       |                         |                                       |                         |                                 |  |
|         |   |                            |       |                                    |                                  |               |                         |                                      |                         |                     |                         |                       |                         |                                       |                         |                                 | Adding Mistake back into bid to check back to original bid-> |
|         |   |                            |       |                                    |                                  |               |                         |                                      |                         |                     |                         |                       |                         |                                       |                         |                                 | Actual Sum on BidX bid with reat                             |

| John D. Stephens, Inc. |                | Garney Companies, Inc. |                | BRH Garver Construction, LP |                | Russo Corporation of Alabama |                | Racon, Inc.  |                | Texas-Sterling Construction Co. |                | B & K Construction Co., LLC |                | Rockdale Pipeline, Inc. |                |
|------------------------|----------------|------------------------|----------------|-----------------------------|----------------|------------------------------|----------------|--------------|----------------|---------------------------------|----------------|-----------------------------|----------------|-------------------------|----------------|
| UNIT PRICE             | AMOUNT         | UNIT PRICE             | AMOUNT         | UNIT PRICE                  | AMOUNT         | UNIT PRICE                   | AMOUNT         | UNIT PRICE   | AMOUNT         | UNIT PRICE                      | AMOUNT         | UNIT PRICE                  | AMOUNT         | UNIT PRICE              | AMOUNT         |
| \$50,000.00            | \$50,000.00    | \$40,000.00            | \$40,000.00    | \$150,000.00                | \$150,000.00   | \$59,705.26                  | \$59,705.26    | \$297,500.00 | \$297,500.00   | \$43,000.00                     | \$43,000.00    | \$120,000.00                | \$120,000.00   | \$92,400.00             | \$92,400.00    |
| \$10.00                | \$8,500.00     | \$12.00                | \$10,200.00    | \$4.00                      | \$3,400.00     | \$9.98                       | \$8,483.00     | \$6.50       | \$5,525.00     | \$20.00                         | \$17,000.00    | \$12.00                     | \$10,200.00    | \$11.55                 | \$9,817.50     |
| \$10.00                | \$7,400.00     | \$6.00                 | \$4,440.00     | \$4.00                      | \$2,960.00     | \$7.49                       | \$5,542.60     | \$5.50       | \$4,070.00     | \$14.00                         | \$10,360.00    | \$7.00                      | \$5,180.00     | \$11.55                 | \$8,547.00     |
| \$10.00                | \$750.00       | \$10.00                | \$750.00       | \$3.00                      | \$225.00       | \$10.00                      | \$750.00       | \$25.00      | \$1,875.00     | \$13.00                         | \$975.00       | \$16.00                     | \$1,200.00     | \$11.55                 | \$866.25       |
| \$10.00                | \$1,200.00     | \$3.00                 | \$360.00       | \$3.00                      | \$360.00       | \$7.46                       | \$895.20       | \$8.00       | \$960.00       | \$1.30                          | \$156.00       | \$2.00                      | \$240.00       | \$11.55                 | \$1,386.00     |
| \$5.00                 | \$6,500.00     | \$6.00                 | \$7,800.00     | \$6.00                      | \$7,800.00     | \$2.94                       | \$3,822.00     | \$7.50       | \$9,750.00     | \$7.00                          | \$9,100.00     | \$16.00                     | \$20,800.00    | \$11.55                 | \$15,015.00    |
| \$20.00                | \$8,400.00     | \$25.00                | \$10,500.00    | \$4.00                      | \$1,680.00     | \$19.09                      | \$8,017.80     | \$22.00      | \$9,240.00     | \$21.00                         | \$8,820.00     | \$5.00                      | \$2,100.00     | \$11.55                 | \$4,851.00     |
| \$75.00                | \$23,250.00    | \$85.00                | \$26,350.00    | \$50.00                     | \$15,500.00    | \$81.28                      | \$25,196.80    | \$60.00      | \$18,600.00    | \$80.00                         | \$24,800.00    | \$55.00                     | \$17,050.00    | \$43.31                 | \$13,426.10    |
| \$15.00                | \$1,350.00     | \$15.00                | \$1,350.00     | \$30.00                     | \$2,700.00     | \$27.45                      | \$2,470.50     | \$13.50      | \$1,215.00     | \$41.00                         | \$3,690.00     | \$60.00                     | \$5,400.00     | \$43.31                 | \$3,897.90     |
| \$75.00                | \$55,500.00    | \$120.00               | \$88,800.00    | \$105.00                    | \$77,700.00    | \$60.59                      | \$44,836.60    | \$43.00      | \$31,820.00    | \$84.00                         | \$62,160.00    | \$104.00                    | \$76,960.00    | \$75.08                 | \$55,559.20    |
| \$75.00                | \$51,750.00    | \$100.00               | \$69,000.00    | \$76.00                     | \$52,440.00    | \$83.39                      | \$57,539.10    | \$75.00      | \$51,750.00    | \$76.00                         | \$52,440.00    | \$52.00                     | \$35,880.00    | \$86.63                 | \$59,774.70    |
| \$110.00               | \$17,600.00    | \$145.00               | \$23,200.00    | \$130.00                    | \$20,800.00    | \$97.29                      | \$15,566.40    | \$100.00     | \$16,000.00    | \$107.00                        | \$17,120.00    | \$117.00                    | \$18,720.00    | \$144.38                | \$23,100.80    |
| \$65.00                | \$2,600.00     | \$40.00                | \$1,600.00     | \$50.00                     | \$2,000.00     | \$96.04                      | \$3,841.60     | \$85.00      | \$3,400.00     | \$85.00                         | \$3,400.00     | \$103.00                    | \$4,120.00     | \$40.43                 | \$1,617.20     |
| \$75.00                | \$3,000.00     | \$45.00                | \$1,800.00     | \$60.00                     | \$2,400.00     | \$95.85                      | \$3,834.00     | \$90.00      | \$3,600.00     | \$85.00                         | \$3,400.00     | \$108.00                    | \$4,320.00     | \$51.98                 | \$2,079.20     |
| \$85.00                | \$3,400.00     | \$60.00                | \$2,400.00     | \$70.00                     | \$2,800.00     | \$96.72                      | \$3,868.80     | \$110.00     | \$4,400.00     | \$90.00                         | \$3,600.00     | \$123.00                    | \$4,920.00     | \$63.53                 | \$2,541.20     |
| \$95.00                | \$3,800.00     | \$70.00                | \$2,800.00     | \$85.00                     | \$3,400.00     | \$144.08                     | \$5,763.20     | \$130.00     | \$5,200.00     | \$132.00                        | \$5,280.00     | \$162.00                    | \$6,480.00     | \$97.71                 | \$3,908.40     |
| \$65.00                | \$5,200.00     | \$40.00                | \$3,200.00     | \$45.00                     | \$3,600.00     | \$95.49                      | \$7,639.20     | \$90.00      | \$7,200.00     | \$100.00                        | \$8,000.00     | \$110.00                    | \$8,800.00     | \$34.65                 | \$2,772.00     |
| \$75.00                | \$9,000.00     | \$45.00                | \$5,400.00     | \$50.00                     | \$6,000.00     | \$81.37                      | \$9,764.40     | \$100.00     | \$12,000.00    | \$100.00                        | \$12,000.00    | \$125.00                    | \$15,000.00    | \$46.20                 | \$5,544.00     |
| \$135.00               | \$8,100.00     | \$75.00                | \$4,500.00     | \$100.00                    | \$6,000.00     | \$159.64                     | \$9,578.40     | \$140.00     | \$8,400.00     | \$155.00                        | \$9,300.00     | \$290.00                    | \$17,400.00    | \$69.30                 | \$4,158.00     |
| \$78.00                | \$3,120.00     | \$45.00                | \$1,800.00     | \$55.00                     | \$2,200.00     | \$81.37                      | \$3,254.80     | \$110.00     | \$4,400.00     | \$97.00                         | \$3,880.00     | \$143.00                    | \$5,720.00     | \$98.18                 | \$3,927.20     |
| \$55.00                | \$2,200.00     | \$35.00                | \$1,400.00     | \$35.00                     | \$1,400.00     | \$90.70                      | \$3,628.00     | \$85.00      | \$3,400.00     | \$93.00                         | \$3,720.00     | \$97.00                     | \$3,880.00     | \$23.10                 | \$924.00       |
| \$35.00                | \$24,500.00    | \$28.00                | \$19,600.00    | \$30.00                     | \$21,000.00    | \$85.44                      | \$59,808.00    | \$70.00      | \$49,000.00    | \$77.86                         | \$54,502.00    | \$67.00                     | \$46,900.00    | \$51.98                 | \$36,386.00    |
| \$50.00                | \$57,500.00    | \$50.00                | \$57,500.00    | \$90.00                     | \$103,500.00   | \$55.20                      | \$63,480.00    | \$60.00      | \$69,000.00    | \$48.00                         | \$55,200.00    | \$55.00                     | \$63,250.00    | \$57.75                 | \$66,412.50    |
| \$60.00                | \$30,000.00    | \$100.00               | \$50,000.00    | \$50.00                     | \$25,000.00    | \$103.97                     | \$51,985.00    | \$65.00      | \$32,500.00    | \$89.00                         | \$44,500.00    | \$73.00                     | \$36,500.00    | \$43.31                 | \$21,655.00    |
| \$18.00                | \$41,400.00    | \$42.00                | \$96,600.00    | \$15.00                     | \$34,500.00    | \$36.71                      | \$84,433.00    | \$22.00      | \$50,600.00    | \$20.00                         | \$46,000.00    | \$23.00                     | \$52,900.00    | \$16.17                 | \$37,191.00    |
| \$20.00                | \$10,000.00    | \$80.00                | \$40,000.00    | \$25.00                     | \$12,500.00    | \$21.03                      | \$10,515.00    | \$22.00      | \$11,000.00    | \$27.00                         | \$13,500.00    | \$10.00                     | \$5,000.00     | \$16.17                 | \$8,085.00     |
| \$77.50                | \$69,750.00    | \$90.00                | \$81,000.00    | \$78.00                     | \$70,200.00    | \$95.11                      | \$85,599.00    | \$96.00      | \$86,400.00    | \$70.00                         | \$63,000.00    | \$76.00                     | \$68,400.00    | \$52.67                 | \$47,403.00    |
| \$120.00               | \$4,800.00     | \$105.00               | \$4,200.00     | \$130.00                    | \$5,200.00     | \$148.33                     | \$5,933.20     | \$145.00     | \$5,800.00     | \$125.00                        | \$5,000.00     | \$132.00                    | \$5,280.00     | \$115.50                | \$4,620.00     |
| \$12,300.00            | \$12,300.00    | \$6,000.00             | \$6,000.00     | \$150,000.00                | \$150,000.00   | \$5,967.20                   | \$5,967.20     | \$5,500.00   | \$5,500.00     | \$3,500.00                      | \$3,500.00     | \$2,795.00                  | \$2,795.00     | \$5,775.00              | \$5,775.00     |
| \$5,080.00             | \$5,080.00     | \$4,500.00             | \$4,500.00     | \$140,000.00                | \$140,000.00   | \$5,956.08                   | \$5,956.08     | \$7,500.00   | \$7,500.00     | \$10,000.00                     | \$10,000.00    | \$3,425.00                  | \$3,425.00     | \$762.30                | \$762.30       |
| \$5,000.00             | \$5,000.00     | \$4,000.00             | \$4,000.00     | \$90,000.00                 | \$90,000.00    | \$2,645.40                   | \$2,645.40     | \$8,000.00   | \$8,000.00     | \$3,100.00                      | \$3,100.00     | \$6,850.00                  | \$6,850.00     | \$5,775.00              | \$5,775.00     |
| \$5,325.00             | \$21,300.00    | \$5,000.00             | \$20,000.00    | \$7,400.00                  | \$29,600.00    | \$8,828.03                   | \$35,312.12    | \$8,500.00   | \$34,000.00    | \$5,500.00                      | \$22,000.00    | \$7,050.00                  | \$28,200.00    | \$8,154.30              | \$32,617.20    |
| \$349.80               | \$80,454.00    | \$380.00               | \$87,400.00    | \$205.00                    | \$47,150.00    | \$383.76                     | \$88,264.80    | \$352.00     | \$80,960.00    | \$380.00                        | \$87,400.00    | \$391.00                    | \$89,930.00    | \$398.95                | \$91,758.50    |
| \$373.40               | \$6,071,484.00 | \$420.00               | \$6,829,200.00 | \$393.00                    | \$6,390,180.00 | \$414.14                     | \$6,733,916.40 | \$417.00     | \$6,780,420.00 | \$417.00                        | \$6,780,420.00 | \$504.00                    | \$8,195,040.00 | \$457.86                | \$7,444,803.60 |
| \$406.40               | \$2,048,256.00 | \$430.00               | \$2,167,200.00 | \$437.00                    | \$2,202,480.00 | \$453.61                     | \$2,286,194.40 | \$479.00     | \$2,414,160.00 | \$500.00                        | \$2,520,000.00 | \$492.00                    | \$2,479,680.00 | \$507.52                | \$2,557,900.80 |
| \$447.00               | \$1,318,650.00 | \$445.00               | \$1,312,750.00 | \$511.00                    | \$1,507,450.00 | \$499.21                     | \$1,472,669.50 | \$530.00     | \$1,563,500.00 | \$549.00                        | \$1,619,550.00 | \$507.00                    | \$1,495,650.00 | \$543.33                | \$1,602,823.50 |
| \$75.00                | \$256,500.00   | \$80.00                | \$273,600.00   | \$153.00                    | \$523,260.00   | \$78.26                      | \$267,649.20   | \$100.00     | \$342,000.00   | \$90.00                         | \$307,800.00   | \$72.00                     | \$246,240.00   | \$163.33                | \$558,588.60   |
| \$235.00               | \$4,700.00     | \$150.00               | \$3,000.00     | \$200.00                    | \$4,000.00     | \$260.87                     | \$5,217.40     | \$295.00     | \$5,900.00     | \$290.00                        | \$5,800.00     | \$850.00                    | \$17,000.00    | \$350.63                | \$7,012.60     |
| \$412.90               | \$346,836.00   | \$440.00               | \$369,600.00   | \$383.00                    | \$321,720.00   | \$452.72                     | \$380,284.80   | \$418.00     | \$351,120.00   | \$530.00                        | \$445,200.00   | \$513.00                    | \$430,920.00   | \$463.67                | \$389,482.80   |
| \$498.70               | \$608,414.00   | \$480.00               | \$585,600.00   | \$489.00                    | \$596,580.00   | \$518.69                     | \$632,801.80   | \$515.00     | \$628,300.00   | \$630.00                        | \$768,600.00   | \$625.00                    | \$762,500.00   | \$652.42                | \$673,952.40   |
| \$547.20               | \$634,752.00   | \$490.00               | \$568,400.00   | \$497.00                    | \$576,520.00   | \$654.30                     | \$758,988.00   | \$567.00     | \$657,720.00   | \$730.00                        | \$846,800.00   | \$668.00                    | \$774,880.00   | \$602.65                | \$699,074.00   |
| \$589.30               | \$424,296.00   | \$510.00               | \$367,200.00   | \$543.00                    | \$390,960.00   | \$731.94                     | \$526,996.80   | \$628.00     | \$452,160.00   | \$680.00                        | \$489,600.00   | \$695.00                    | \$500,400.00   | \$646.19                | \$465,256.80   |
| \$5,000.00             | \$5,000.00     | \$4,000.00             | \$4,000.00     | \$70,000.00                 | \$70,000.00    | \$1,838.38                   | \$1,838.38     | \$1,000.00   | \$1,000.00     | \$5,000.00                      | \$5,000.00     | \$20,100.00                 | \$20,100.00    | \$11,550.00             | \$11,550.00    |
| \$6,780.00             | \$610,200.00   | \$6,500.00             | \$585,000.00   | \$6,034.00                  | \$543,060.00   | \$9,375.73                   | \$843,815.70   | \$7,500.00   | \$675,000.00   | \$10,500.00                     | \$945,000.00   | \$14,000.00                 | \$1,260,000.00 | \$13,860.00             | \$1,247,400.00 |
| \$6,000.00             | \$6,000.00     | \$5,000.00             | \$5,000.00     | \$40,000.00                 | \$40,000.00    | \$6,485.05                   | \$6,485.05     | \$3,500.00   | \$3,500.00     | \$7,800.00                      | \$7,800.00     | \$7,700.00                  | \$7,700.00     | \$6,136.52              | \$6,136.52     |
| \$72,000.00            | \$72,000.00    | \$80,000.00            | \$80,000.00    | \$100,000.00                | \$100,000.00   | \$85,425.35                  | \$85,425.35    | \$70,000.00  | \$70,000.00    | \$95,000.00                     | \$95,000.00    | \$105,000.00                | \$105,000.00   | \$85,788.78             | \$85,788.78    |
| \$76,500.00            | \$76,500.00    | \$90,000.00            | \$90,000.00    | \$130,000.00                | \$130,000.00   | \$94,473.93                  | \$94,473.93    | \$75,000.00  | \$75,000.00    | \$99,000.00                     | \$99,000.00    | \$110,000.00                | \$110,000.00   | \$90,840.75             | \$90,840.75    |
| \$6,500.00             | \$130,000.00   | \$10,000.00            | \$200,000.00   | \$5,300.00                  | \$106,000.00   | \$14,779.15                  | \$295,583.00   | \$6,500.00   | \$130,000.00   | \$13,000.00                     | \$260,000.00   | \$5,605.00                  | \$112,100.00   | \$4,562.25              | \$91,245.00    |
| \$8,100.00             | \$121,500.00   | \$12,000.00            | \$180,000.00   | \$6,800.00                  | \$102,000.00   | \$17,830.04                  | \$267,450.60   | \$8,000.00   | \$120,000.00   | \$16,000.00                     | \$240,000.00   | \$7,750.00                  | \$116,250.00   | \$8,327.55              | \$124,913.25   |
| \$5,800.00             | \$5,800.00     | \$4,000.00             | \$4,000.00     | \$8,000.00                  | \$8,000.00     | \$2,755.64                   | \$2,755.64     | \$3,500.00   | \$3,500.00     | \$3,000.00                      | \$3,000.00     | \$2,000.00                  | \$2,000.00     | \$8,662.50              | \$8,662.50     |
| \$15,520.00            | \$15,520.00    | \$9,000.00             | \$9,000.00     | \$20,000.00                 | \$20,000.00    | \$7,545.67                   | \$7,545.67     | \$16,000.00  | \$16,000.00    | \$18,000.00                     | \$18,000.00    | \$15,000.00                 | \$15,000.00    | \$8,978.97              | \$8,978.97     |
| \$20,600.00            | \$20,600.00    | \$23,000.00            | \$23,000.00    | \$32,000.00                 | \$32,000.00    | \$35,663.61                  | \$35,663.61    | \$25,000.00  | \$25,000.00    | \$20,000.00                     | \$20,000.00    | \$20,000.00                 | \$20,000.00    | \$25,414.62             | \$25,414.62    |
| \$67,500.00            | \$202,500.00   | \$13,000.00            | \$39,000.00    | \$54,000.00                 | \$162,000.00   | \$8,846.99                   | \$26,540.97    | \$83,000.00  | \$249,000.00   | \$17,000.00                     | \$51,000.00    | \$20,000.00                 | \$60,000.00    | \$15,565.94             | \$46,697.82    |
| \$72,000.00            | \$144,000.00   | \$18,000.00            | \$36,000.00    | \$64,000.00                 | \$128,000.00   | \$13,405.75                  | \$26,811.50    | \$99,700.00  | \$199,400.00   | \$21,000.00                     | \$42,000.00    | \$40,000.00                 | \$80,000.00    | \$15,567.09             | \$31,134.18    |
| \$504.00               | \$206,640.00   | \$600.00               | \$246,000.00   | \$260.00                    | \$106,600.00   | \$309.55                     | \$126,915.50   | \$720.00     | \$295,200.00   | \$460.00                        | \$188,600.00   | \$465.00                    | \$190,650.00   | \$1,872.26              | \$767,626.60   |
| \$1,997.00             | \$459,310.00   | \$2,400.00             | \$552,000.00   | \$1,450.00                  | \$333,500.00   | \$1,559.71                   | \$358,733.30   | \$1,800.00   | \$414,000.00   | \$1,600.00                      | \$368,000.00   | \$1,970.00                  | \$453,100.00   | \$4,065.60              | \$935,088.00   |
| \$2,228.00             | \$423,320.00   | \$2,500.00             | \$475,000.00   | \$1,830.00                  | \$347,700.00   | \$1,867.42                   | \$354,809.80   | \$2,300.00   | \$437,000.00   | \$1,850.00                      | \$351,500.00   | \$1,995.00                  | \$379,050.00   | \$4,246.94              | \$806,918.60   |
| \$2,388.00             | \$198,204.00   | \$2,700.00             | \$224,100.00   | \$2,580.00                  | \$214,140.00   | \$2,171.94                   | \$180,271.02   | \$4,900.00   |                |                                 |                |                             |                |                         |                |

| John D. Stephens, Inc.    |                         | Garney Companies, Inc. |                        | BRH Garver Construction, LP |                         | Russo Corporation of Alabama |                         | Racon, Inc.  |                         | Texas-Sterling Construction Co. |                        | B & K Construction Co., LLC |                         | Rockdale Pipeline, Inc.   |                         |
|---------------------------|-------------------------|------------------------|------------------------|-----------------------------|-------------------------|------------------------------|-------------------------|--|-------------------------|---------------------------------|------------------------|-----------------------------|-------------------------|---|-------------------------|
| UNIT PRICE                | AMOUNT                  | UNIT PRICE             | AMOUNT                 | UNIT PRICE                  | AMOUNT                  | UNIT PRICE                   | AMOUNT                  | UNIT PRICE   | AMOUNT                  | UNIT PRICE                      | AMOUNT                 | UNIT PRICE                  | AMOUNT                  | UNIT PRICE  | AMOUNT                  |
| \$3.00                    | \$810.00                | \$3.00                 | \$810.00               | \$1.00                      | \$270.00                | \$6.67                       | \$1,800.90              | \$10.00  | \$2,700.00              | \$8.00                          | \$2,160.00             | \$6.50                      | \$1,755.00              | \$11.55   | \$3,118.50              |
| \$10.00                   | \$1,500.00              | \$8.00                 | \$1,200.00             | \$20.00                     | \$3,000.00              | \$10.01                      | \$1,501.50              | \$10.00  | \$1,500.00              | \$10.25                         | \$1,537.50             | \$13.00                     | \$1,950.00              | \$12.30   | \$1,845.00              |
| \$2.00                    | \$11,200.00             | \$6.00                 | \$33,600.00            | \$2.00                      | \$11,200.00             | \$3.89                       | \$21,784.00             | \$4.25   | \$23,800.00             | \$2.00                          | \$11,200.00            | \$2.00                      | \$11,200.00             | \$3.47  | \$19,432.00             |
| \$8.00                    | \$41,600.00             | \$1.00                 | \$5,200.00             | \$1.30                      | \$6,760.00              | \$8.90                       | \$46,280.00             | \$3.60   | \$18,720.00             | \$8.50                          | \$44,200.00            | \$10.50                     | \$54,600.00             | \$2.77  | \$14,404.00             |
| \$0.90                    | \$21,690.00             | \$0.10                 | \$2,410.00             | \$1.20                      | \$28,920.00             | \$0.33                       | \$7,953.00              | \$0.50   | \$12,050.00             | \$0.50                          | \$12,050.00            | \$1.00                      | \$24,100.00             | \$2.31  | \$55,671.00             |
| \$50.00                   | \$30,000.00             | \$50.00                | \$30,000.00            | \$27.00                     | \$16,200.00             | \$55.59                      | \$33,354.00             | \$40.00  | \$24,000.00             | \$18.00                         | \$10,800.00            | \$35.00                     | \$21,000.00             | \$69.30   | \$41,580.00             |
| \$0.25                    | \$19,525.00             | \$0.15                 | \$11,715.00            | \$0.40                      | \$31,240.00             | \$0.11                       | \$8,591.00              | \$0.20   | \$15,620.00             | \$0.30                          | \$23,430.00            | \$0.25                      | \$19,525.00             | \$1.16  | \$90,596.00             |
| \$1.00                    | \$37,500.00             | \$1.00                 | \$37,500.00            | \$1.05                      | \$39,375.00             | \$1.67                       | \$62,625.00             | \$2.25   | \$84,375.00             | \$1.30                          | \$48,750.00            | \$1.50                      | \$56,250.00             | \$2.31  | \$86,625.00             |
| \$4.00                    | \$7,200.00              | \$5.00                 | \$9,000.00             | \$6.00                      | \$10,800.00             | \$5.56                       | \$10,008.00             | \$5.00   | \$9,000.00              | \$4.50                          | \$8,100.00             | \$5.20                      | \$9,360.00              | \$5.78  | \$10,404.00             |
| \$9,500.00                | \$9,500.00              | \$20,000.00            | \$20,000.00            | \$140,000.00                | \$140,000.00            | \$18,068.24                  | \$18,068.24             | \$24,000.00  | \$24,000.00             | \$35,000.00                     | \$35,000.00            | \$19,500.00                 | \$19,500.00             | \$11,550.00   | \$11,550.00             |
| \$500.00                  | \$500.00                | \$750.00               | \$750.00               | \$800.00                    | \$800.00                | \$444.76                     | \$444.76                | \$250.00   | \$250.00                | \$400.00                        | \$400.00               | \$130.00                    | \$130.00                | \$231.00  | \$231.00                |
| \$16,000.00               | \$16,000.00             | \$40,000.00            | \$40,000.00            | \$160,000.00                | \$160,000.00            | \$12,675.57                  | \$12,675.57             | \$7,500.00   | \$7,500.00              | \$60,000.00                     | \$60,000.00            | \$75,000.00                 | \$75,000.00             | \$115,500.00  | \$115,500.00            |
| \$30.00                   | \$900.00                | \$50.00                | \$1,500.00             | \$22.00                     | \$660.00                | \$33.36                      | \$1,000.80              | \$21.00  | \$630.00                | \$29.00                         | \$870.00               | \$14.00                     | \$420.00                | \$57.75   | \$1,732.50              |
| \$30.00                   | \$2,700.00              | \$50.00                | \$4,500.00             | \$24.00                     | \$2,160.00              | \$33.36                      | \$3,002.40              | \$25.00  | \$2,250.00              | \$52.00                         | \$4,680.00             | \$39.00                     | \$3,510.00              | \$115.50  | \$10,395.00             |
| \$100.00                  | \$1,500.00              | \$115.00               | \$1,725.00             | \$130.00                    | \$1,950.00              | \$111.19                     | \$1,667.85              | \$60.00  | \$900.00                | \$70.00                         | \$1,050.00             | \$70.00                     | \$1,050.00              | \$115.50  | \$1,732.50              |
| \$75.00                   | \$4,500.00              | \$125.00               | \$7,500.00             | \$75.00                     | \$4,500.00              | \$83.39                      | \$5,003.40              | \$75.00  | \$4,500.00              | \$90.00                         | \$5,400.00             | \$77.00                     | \$4,620.00              | \$173.25  | \$10,395.00             |
| \$65.00                   | \$6,500.00              | \$75.00                | \$7,500.00             | \$110.00                    | \$11,000.00             | \$123.28                     | \$12,328.00             | \$250.00   | \$25,000.00             | \$30.00                         | \$3,000.00             | \$9.00                      | \$900.00                | \$28.88   | \$2,888.00              |
| \$600,000.00              | \$600,000.00            | \$400,000.00           | \$400,000.00           | \$310,000.00                | \$310,000.00            | \$245,010.68                 | \$245,010.68            | \$50,000.00  | \$50,000.00             | \$1,300,000.00                  | \$1,300,000.00         | \$730,000.00                | \$730,000.00            | \$818,317.50  | \$818,317.50            |
| \$100,000.00              | \$100,000.00            | \$100,000.00           | \$100,000.00           | \$100,000.00                | \$100,000.00            | \$100,000.00                 | \$100,000.00            | \$100,000.00   | \$100,000.00            | \$100,000.00                    | \$100,000.00           | \$100,000.00                | \$100,000.00            | \$100,000.00  | \$100,000.00            |
| \$40,000.00               | \$40,000.00             | \$40,000.00            | \$40,000.00            | \$40,000.00                 | \$40,000.00             | \$40,000.00                  | \$40,000.00             | \$40,000.00  | \$40,000.00             | \$40,000.00                     | \$40,000.00            | \$40,000.00                 | \$40,000.00             | \$40,000.00   | \$40,000.00             |
| \$580,000.00              | \$580,000.00            | \$200,000.00           | \$200,000.00           | \$188,000.00                | \$188,000.00            | \$428,968.40                 | \$428,968.40            | \$351,553.00   | \$351,553.00            | \$285,000.00                    | \$285,000.00           | \$350,000.00                | \$350,000.00            | \$400,149.75  | \$400,149.75            |
| <b>Equivalent Bid&gt;</b> | <b>\$ 16,987,846.00</b> | <b>TOTAL</b>           | <b>\$17,195,810.00</b> | <b>TOTAL</b>                | <b>\$ 17,680,980.00</b> | <b>TOTAL</b>                 | <b>\$ 17,922,205.25</b> | <b>Equivalent Bid&gt;</b>                              | <b>\$ 18,566,793.00</b> | <b>Equivalent Bid&gt;</b>       | <b>\$19,719,130.50</b> | <b>TOTAL</b>                | <b>\$ 20,871,640.00</b> | <b>TOTAL</b>  | <b>\$ 22,266,981.13</b> |
|                           |                         |                        |                        |                             |                         |                              |                         |  |                         |                                 |                        |                             |                         |   |                         |
|                           |                         |                        |                        |                             |                         |                              |                         |  |                         |                                 |                        |                             |                         |   |                         |
|                           |                         |                        |                        |                             |                         |                              |                         |  |                         |                                 |                        |                             |                         |   |                         |
| <b>UNIT PRICE</b>         | <b>AMOUNT</b>           |                        |                        |                             |                         |                              |                         | <b>UNIT PRICE</b>                                      | <b>AMOUNT</b>           | <b>UNIT PRICE</b>               | <b>AMOUNT</b>          |                             |                         |   |                         |
| \$93.00                   | \$9,300.00              |                        |                        |                             |                         |                              |                         | \$130.00   | \$13,000.00             | \$130.00                        | \$13,000.00            |                             |                         |   |                         |
| beated item included >>   |                         | <b>\$16,997,146.00</b> |                        |                             |                         |                              |                         | Actual Sum on BidX bid with reapeated item included >> |                         | <b>\$ 18,579,793.00</b>         |                        |                             |                         | \$19,732,130.50 <<Actual Sum on BidX bid with reapeated item included |                         |